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Panel 10

Present Value  The PY funcrion returns the present value of an investment. The present value s the
total amount that a series of future payments is worth now. For example, when you
borrow money, the loan amotmt is the present value to the lender.

Excel Formula: =PY(rate, nper, pmt, fv), where
rate; is the inferest rate per period.
mper: is the fotal mmber of payment periods in an anmuity.
pmt: is the payment made each period; it cannot change over the
life of the antuity.

fi: is the futare value, or a cash balance you want to atain after
the Jast pavment is made.
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Panel 11

Example: Fing the present valug of 51000 due after 3 vears if the iferest rate 1s 9%

compounded monthiy.
Solution:

Interest rate: 0.09

Compound Periods: 1

Number of years: ]
rate: 0.0075 = Interest rate / compound periods
nper: 36 = Number of years * compound periods
pmt: 0

fi: 1000
PV{rate, nper, pmt, fv) = (§764.15)
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